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ExT (msS®).
The Current " i " in the circuit can be
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Ex2 (0SS
Which of The following device will be unilateral

v A) Schottky diode

v5) General PN diode

v () Zener Diode

VD) Tunnel diode




£x3 The Response of Current "i (t)" in the given circuit
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Ex 4
© N A The node voltage "Va"in the circuit can be
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£X9 The power delivered by Voltage Source " Vs " in the
circuit can be, if supply Voltage is
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EX6
The Current "i " in the circuit, after

closing the swith, is ......... Amp.
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EX -/
The power delivered by voltage Source " Vs"in the

circuit will be .......... Watts
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EX8 Which of the following statement will be correct

for given circuit .. -
W/ 5A Current Source will deliver power
_.'I,I_-
1) 5A Current Source will absorb power \Jg ?“Lﬁ \oo\

x 100V Voltage Source will absorb power

7( Vs will be 100V.
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Ex-9

Power delivered by Current Source is
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Ex-10
For what value of resistance ,only current Source
will deliver power
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EX-11
Current through 8 ohm resistance is ......Amp.

The VI Characteristics of all Sources is shown
in figure below
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